“(11 2115Z "|BA) 3 'Ol  "PJ UOA UaBEPONY JajeIawey

€v'122°009' L 28'019'889'0L- |6£'688°280°¢- (Zy1] 81
Bunsouny usjueideb Jop prayejewulg Bunjnopag aysis 0} ua|Iaz =) yaybieisbunyiemion
uapuajne| J19p siuqabig =
18°026°026°2- 0p'S08'vLeZSL |l2'9zl'seZ’sSt uabunpuamjny ayoijuapio =| L}
62'028°9L¢- 21'995°80L°61 10°28€'520°02 uabunpuamjny| 9t
: ayoljjuapio abisuos +
18°'L6v°8SH- €1°662'255'8S  [00'Sv.L°0L0°6S uabunpusmjneraysuel] +| GL
16'€hS'861 26'ebS'€62°'2L  [00°000°560°2L uabunqiaiyosqy ajjeizueliq +| vi
€2'ev8°020°Z- $6°'2.v°0£5°81 L1'91E°1S5°02 uabunysiapsuaial €l
pun -yoesg inj uabunpusminy +
00°S01°'S.E 00'S0L°SLE 000 uaBunpuamjnesBunbiosiop +| g1
Sh'vLy 869~ $9'€98'vS8° 2y 60'8L2°€5S" Y uabunpuamjnejeuosiad| L1
0£°Zp9°125°0L- |8S'¥61'929°'LyL [88°9€8°IPL 2SI abeip3 ayoijuepio =| 0L
000 00'0 000 uafunispuplanspueysag —/+| 6
00'0 00'0 000 ) uabunjsia|uabiz apsiaipe +| 8
“Jep Pjoy3 uabijewule usud RIS zjesuesjeysneH|cp'9z9°¢£9'8- 1S'elv'168°9 00001°S2S°SL abigu3 ayoljjuspio abysuos +| L
WoA aBgiyy sop Bunysiemqy a1 “zuepgsBunuyoig
19p (aBepjonisiugebia + ebepony aulewabiy)
teyidesuabiy sep jjuios usyeyse pun usjjeylus uPPIN uepinb
uap uj pus uabepony usjesawey IAQ *(3 "ol L "P4) uabepiony
usjesawey uoA Bunsopny ayoiBow Jyoiu Joqe sjueidoh
0L0Z yeysney usl aip Buebyomy Jop YHISq USYDIJUBSIY Wy
9z'e6L°10Z- $.'905°669°C 00°002°006°€ uabejwnuajsoy| 9
u:: uabunjjejsioudysoy +
ze'9eg’L8e- 89'€91°192°2 00'000°€PL'E aylabyuasbunysie| §
ayoipyoasjeAud +
88°7LL'88S'L-  [ZL'LZL'6bP'6L  [00°00E°LEO'LE ajjebjussbunysioy| ¢
3Y2113yaai-yoljjusye +
S0°L00°901- 56'868'VPZ 00°006°0SE abeipalajsues] abysuos +| ¢
LL'296°6LY'L 11°290°6L9°€L 00°00L°661°Z1 uabejun| 2z
aupwabjje pun uabunpuamnz +
LY'YLL060°L- 19'296°006°V6 88'9£.°166°66 uaqebqy ayoluye pun ulenajs| 1
3 001°LEV'60L = L 10T Zjesueue|d
3ZL6°SZE'LLL = LLOZ 1SI Sabynepion
‘36103 am uaiyefabjo uj yois
uajMoImus uaqelbqy usyoljuye pun usena)s sne abeiug aiqg
uabuniayngpy an3 ui yn3a w ¥n3a w usjespueminy pun -sbesuz| sz
Is1/ Zyesuy oLoz 0102 Ziesuy
yoia)Birap sjugabiz-is|l sousqenyosalB
-Ho4

01L02°Z1°L€ WINZ }pa)siapIoN Ipels Jop sassnjyosqesalyer sap bunuyosassiugabig




usuuimabaysomipels|e8'syL'0L8'ZL- [£8°HZ095°ZL- |00°0050S2 (sz| 9z
uawesyimsBeipo sje JYolu uap sne 3 ‘ol G "pd - pun Zz ua|iazZ =) siuqabiasasyep =
aimos uabepjony
usjesawey uapuasojnzine Jyaju uap sne 3 "ol 2 ‘pi -
‘uapjayiajewuly uapynyabine usp sne uayolJussapy
wi yais yapuniBaq 3-olly §'Z| "p1 UoA siuqabiy seq
00‘0 00'0 00°0 . (vz pun ¢z uspaz| Sz
=) siuqabi3z sayoijjuapioiagne =
00°0 000 000 uabunpuaminy| pz
aysijjuspiolagne —
00'0 000 000 oabeaug ayoljjuapiolagne +| €z
€8'6y2°018'2L- |€8'SPZ'095°ZL- |00°005°0SC (tzpungy| 22
uaIaz =) siuqabiz saysiuspio =
ov'veo0LZ S 10'S€9°LLS’L- 6£'68£'8€€°E (oz| 12
pun g} usjiaz =) siuqabiazueul =
12'969°'¢22 2£'206'vS6°L L9'oLZ’LeL’L uaBunpuamjnezueury| 0z
abysuos pun uasuiz —|
"$2'099°062°Z 3 = ¥1.02|69'L2€"986 1 Le'zLees 00'009°690°S abpapozueury +| 61

€L'v8L 181 3 =£10T

00'000°00S°} 3 = Z10T

00000'00S°} 3 = 11L0Z

‘uaBunyaimsny

apuabjoy sep jey aiyelabjo alp in4 ‘usyonqiaa nz Besug

S|e Jpe3s JSp 129 puls auuiman ajapnyosabsne yoigalyossny
‘JpeIS 13p 19q BunyonqgsBesys] Jauley nz sa Jwwoy
‘(Bunsaunesay 1) apanm 3jj23sabule axiomipels saqaujaquably
sap uabepjony aip ul uuman Jap eq “IBejYosueIaA

Beipi3 sje 010z 10} IPEIS 19p ZJeSuesyeysneH wi apinm

3 "OlIN 6'¥ "P4 UOA §00Z S3IYe[ SIP 3)I19MIPE}S I8P UUIMAD 13




